M 7 £ 10 A TEFE

B | B T 8 R B HERETFE
1| K
2 | K
3| & | HERARRORMRAR [ SFENEE(FLERE) B L& ERR(ERH)
=
4 |
58
6 | A
7| X | HFEBEE
8 | K
9 [ K
10| % |- V)= 8- T A |—3J’=E91~%B$EEK(?‘E-*£%‘) _
1|+ L B bE PEHA (BEH)
12| B _
13| B| =AREK—vDHE
14 [ X BEFBEHINRE1TZ, 272 @ XRBEQ~OGR
15| 7K NGEN=E
16| K | ORET AMEMEKBMATES ASWE(15:10~16:00) | oomE ESRRARBERR(B
17| €| CGRERERESR
19| B | HEBLEL hrsg—mn i
20 | A fREBEE
21 | K
22 | K AB—T 5T EBRE CRF )
23| K
24 | & RESMERIFFHIIRE (16:05~17:35) r 1. 2EN R (R EE)
5| = B %?9—7%757‘?5@%5%%5%(*%
26| H
27| A
28| X
29 | K
30 K
31| & | SFHEMER(FEH) (10/31, 11/1)
f® |11A1R AlEZiE=H

118298 ~12H48 #XEZ®X




